VCE & PDF https://www.passapply.com/4a0-106.html
2024 Latest passapply 4A0-106 PDF and VCE dumps Download

PassApply.com

AA0-106954S

Alcatel-Lucent Virtual Private Routed Networks

Pass Alcatel-Lucent 4A0-106 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/4a0-106.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Alcatel-
Lucent Official Exam Center

@ After Purchase

© Guarantee

@ Free Update STISFACTION GUARRHTEEp
@ Satisfied Customers

4A0-106 PDF Dumps | 4A0-106 Practice Test | 4A0-106 Braindumps 1/5


https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html

VCE & PDF https://www.passapply.com/4a0-106.html
2024 Latest passapply 4A0-106 PDF and VCE dumps Download
PassApply.com

QUESTION 1

Click the exhibit.

F-1# configucre router ldp

P-1sconfigrrouter>1dp# interface-paramelers
F=l»configrroucer>ldprif-param=# interface “P-1 to PE-1"
P-lrcontigrroucer>ldprif-pacams>iL§ oHit
P-isconfigrrouter>ldprif-parama interface “"P-1 to P-24
P=1»configrrouter>ldp>if=-param=>iff§ emit
P-lrconfigrrouter>ldpr if-paramsf interface “'P-1 to P-37
P-isconfigrrouter>ldp:> if-params>-if§ exit

An Alcatel-Lucent 7750 SR is to be configured as a core router that supports VPRNSs using LDP as the transport
protocol. Which of the following best describes this configuration?

A. This configuration is correct and complete.

B. This configuration is correct, but the interfaces must also be configured in the "configure router mpls" context.
C. There is no configuration required for LDP in the core network.

D. This configuration is correct but Targeted-LDP is also required.

Correct Answer: A

QUESTION 2

Click the exhibit.
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CSC-PE1 CSC-PE2

e p————

| 1 |
10| (MPLS VPH) 1

192,50.10.1732

Internet
192.60,100,0/ 24

A Carrier Supporting Carrier (CSC) VPRN is configured for a customer carrier who is an Internet Service Provider (ISP).
If CE1 sends an IP packet to 192.60.100.1, which of the following is FALSE?

A. PE1 pushes an LDP transport label.

B. CSC-PEL1 pops the BGP label and pushes two labels: a VPN label and an MPLS transport label.
C. CSC-PE2 pops the MPLS transport label and pushes a BGP label.

D. CSC-CE2 pops the BGP label and pushes an LDP transport label.

Correct Answer: C

QUESTION 3

Click the exhibit.

CSC-PET CSC-PE2

AS 1000 | J
{MPLS VPN)

AS 2000

Internet
192 60, 100.0,/24

AS 10
TIE50 1732

A Carrier Supporting Carrier (CSC) VPRN is configured on an Alcatel-Lucent 7750 SR for a customer carrier who is an
Internet Service Provider (ISP). Which of the following configuration steps is NOT required?

A. Configuring iBGP sessions between PEs residing in different customer carrier sites,
B. Configuring a policy on each CSC-CE to advertise local PE addresses to the network provider.

C. Configuring a CSC VPRN on each CSC-PE with a SAP interface towards the attached CSC-CE.
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D. Configuring an IES service on PEL.

Correct Answer: C

QUESTION 4

Which of the following about the Route Target is TRUE?

A. The Route Target is added to an IPv4 route to create the VPN-IPv4 route.

B. The Route Target is an extended community string that identifies VPN membership.
C. Aroute can have only one Route Target.

D. The Route Target is a 64-bit value added to customer prefixes to make them unique.

Correct Answer: B

QUESTION 5

Click the exhibit.
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19206800027 192.168.2.002F

AS 64450 _AS baas1
: 2

1010106032 10,10, 10.5032

18.10.10.1432 10.10.10.2/32

10.10.10.3732 10.90.10.4732

R ASERL>configrservicervpmnf info

description "Custcmer A"
rovcer-id A0 10.10.3
AUtOTOmOUS =Sy sten 64496
route—distingnaisher 64459601
aura-bind Ldp
vri-carget target:cd4426:10
interface “tolSBEZY creste
asddress 10.3_4.3/27
s8p L/LA2 cresce
axit
ezt
bap
group “tolSBRZ"
naighbor 10.3.4.4
eiport “wbgp-bop®
peer-as 644597
sxit
amt
exie
no skt down

Which of the following about the inter-AS model A VPRN configuration on ASBR1 is TRUE?

A. The route-distinguisher value must be 64496:10 for successful VPRN operation.

B. An export policy is not required for successful VPRN operation.

C. The "family vpn-ipv4" command is required under the BGP configuration for successful VPRN operation.
D. The neighbor address should be 10.10.10.4 under the BGP configuration for successful VPRN operation.
E. The VPRN configuration on ASBR1 is correct.

Correct Answer: E
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